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QUESTION 1

What can be determined when auditing is enabled on an EMC Isilon cluster? 

A. Who made the change When the change was made If the change can be undone 

B. When the change was made If the change can be undone If proper ITIL process was followed 

C. Who observed the change When the change was made If the change can be undone 

D. When the change was planned If the change can be undone If proper change control was followed 

Correct Answer: A 

 

QUESTION 2

Several SyncIQ policies have been defined on an Isilon cluster and are in production on several terabytes of data. The
customer wishes to change the directory includes on one of the policies, but is concerned about maintaining their RTO. 

What will occur after the change is made? 

A. Changing includes, excludes, or file matching criteria causes a full re-synchronization of the data; RTO may be
affected 

B. Policy changes are reflected in the next SyncIQ incremental run; RTO should be unaffected 

C. If the directory includes are only new data, SyncIQ replicates the new data during the next incremental
synchronization; RTO may be affected 

D. SyncIQ dynamically adjusts for policy changes; RTO will be unchanged 

Correct Answer: A 

 

QUESTION 3

What is a characteristic of dynamic pools? 

A. Can allocate more than one IP per NIC port in the pool 

B. Must have the same number of IPs in the range as NIC ports in the pool 

C. If a node fails, will fail over the IPs in a pool to the node with the lowest LNN 

D. Will force the IPs to stay with the same NIC port, even if a node fails 

Correct Answer: A 

 

QUESTION 4

E20-357 PDF Dumps | E20-357 VCE Dumps | E20-357 Practice Test                                2 / 3

https://www.pass2lead.com/e20-357.html
https://www.pass2lead.com/e20-357.html
https://www.pass2lead.com/e20-357.html


https://www.pass2lead.com/e20-357.html
2024 Latest pass2lead E20-357 PDF and VCE dumps Download

What is a characteristic of static pools? 

A. Will force an IP to remain on a NIC port even if a node fails 

B. Can assign more than one IP per NIC port in the pool 

C. When a node fails, will fail over IPs to the node with the lowest LNN 

D. Must have the same number of IPs in the range as NIC ports in the pool 

Correct Answer: A 

 

QUESTION 5

Which task requires preparation for successful failover? 

A. Creating shares and exports on the target cluster 

B. Using the same cluster name and IP address for source and target 

C. Breaking the target associations of SyncIQ policies 

D. Testing each SyncIQ policy to prepare resync policies 

Correct Answer: A 
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